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And "1 concurs with @' — PR 3395 175 920 K2°PY 92

OVERVIEW

The R %) explains that when ¥" stated w7pn% 1", he is referring to a case where a
Y177 YW W damaged a wipn Sw . The ruling (according to X011 12 w"3 [and
y"1]) is that the 27w %2 has to pay w7pi a o>w p1i even if the v1°77 W is a an. It is
the view of ¥"7 that this payment must from 2v». This is derived from a 1"p; if
when damaging v1>77, payment must be from 2v°», then certainly where w717 was
damaged, that the payment must be with 2v>». Our N15010 deals with the contention
that ¥"9 concurs with w"9, and with the efficacy of the wipi? 1"p.

MooIN asks:
- ’\’)P’b N2PY 2292 PN 07y 19991 99 (x,n 91 DYDY NN

It is astounding! Previously, when the X 1) established that the Xn™72 of '
Xy which does not mention y°%21F 2%7¥ (as one of the thirteen P11 NMAR),

follows the view of ¥''9, the X773 there should have asked -
= VIPNT NIV PIRT IV 2101 NV PIINT IV 19)w %32 991 23y NPV 229 N

If the xn™ 2 follows the view of ¥'9 then the Xn>72 should have taught us
concerning two types of a P17 "; it should mention an ox that damages an

ordinary ox, and an ox that damaged a W75 0X (since ¥"1 agrees to w"1 that when a
WP YW W is damaged the payment is always a w"3, even by a on; as opposed to the pri7 of a
vTa W W) ?!

N1B0IN answers:
- 25990m XY WIPNAT Y YN

And one can say that the Xn»12 is not discussing cases involving matters of
27?7, Therefore the X713 does not ask why we do not mention these two types of Mw.

ndoIN asks:
- “D1N SPTI2 10D N9 19V VITAY NN THIDY PYNRY 5393 930 333 %3 HYP IN

However there is a difficulty, for even if ¥"7 concurs with >''9 (concerning MW

' The xm3 there did ask a similar question that the Xn12 should have mentioned two types of MWw; a My PIRT MW
and a 07X PIRT W. See the answer there. M0 is asking that we can ask a similar question concerning P IX7 W
V17 and WIPT PUIRT MW

? This would seemingly refer to a 791 2, for a an M who pays 1913 does not pay 2u™. See X1 7"7 X,7 '0IN.

? The X3 there gave a similar answer — ™M™»p XY D°wTpa — concerning why 2397 is not mentioned (in the xn™12 of
n"7). See ‘Thinking it over’.

* A 771 (or L1 023) receives payment [from 2v°n] when they are damaged by another person.
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WP Sw MW po1R7), the X3 should ask that we cannot derive that the v1°77 Y0 W
which gored the w7pi 5w W is required to pay 2v°n from a"'p of Hw W v Nw
171, because we can refute this 1"'p by saying; ‘do you know why by damaging a
VY177 MY do you pay 1v°n, because a v17i has a credible claim when he is

damaged by a person; however if w7pi is damaged by a person, it receives no payment at
all.’ There is therefore no 1"p, since V17 is stronger than w7pa!

mooin offers a possible answer:
= 995 OHWN ROT P1IY VI JONY 95 1PVWHT XYY ®ynv9997 SN

And according to what I explained, that we cannot derive from »28° 93, to

exclude a P77 07X, that he does not pay at all if he damaged w7pT -
= 11Y9 29N57 DIVN KON

Unless it already states ¥¥9 (from which we exclude wpi Y@ Mw). Once we see that WP
does not receive compensation for certain damages (P*»7 W) we can assume that 758> °3
exempts P17 7R as well from paying anything to w7pi. However now that we do not exclude
w7pn from receiving payment by 7w *p1i, then we cannot exclude the P17 07X from paying wpn
for his damage’ -

= 99V NN
Then it is properly understood. There is a proper 1"p, because ©¥717 is not stronger then
wpn, when it comes to 07X °P1; in both cases wW7pn receives compensation for the damages it
sustained.

moon still has a difficulty:
51972 %7133 9N 19?19V 7199 HYP N

However there is (still) a difficulty; the X713 should challenge that there is no
1"p; for ©1°777 is more powerful than w7p7 when it comes to damages causes by a

%2, M1oIN does not answer this question.9

SUMMARY

The X072 of 11" 1s not discussing WP therefore it does not mention the case of
7 v W W PIIRT MW.

According to ¥"7 the v177 1s not stronger than WP by 27X *P11; however 0177 is

3 The 998 *3 7109 teaches us P*Tn2 1ID; there is no payment to w7pi for 07X *pra.

6 W'y MW 7T aTPn NvoNa.

7 The %% *3 will only exempt the p>1a from the w»n, but not from the 17p.

¥ We derive from the p102 of 12 7 nam that M2 is MM (even) by 1wIpMT 200 MW, and certainly if it damaged
actual w7ph, as opposed to U171 which receives payment [from 2v 1] by 712 %P1,

? See 11"nX for various 271N,
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stronger than w7pa by 712 *P1l.

THINKING IT OVER

mooin asked why did not the X3 ask that it should list two types of 2w.'" mpoin
answered that *7»np X2 wIpna. Seemingly it is obvious that *3»np X2 wIpna; the
X3 itself states it there (concerning 11""7). What was the X"7 of mooin?!H

10°gee footnote # 3.
'See 73 'on ava a"nx.
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